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NEW QUESTION 1
The Cisco Nexus switch is connected to a peer switch that is not running Cisco NX-OS. The switches are connected using port channel and are experiencing
packet loss. Which action should be performed on the Cisco Nexus switch ports to resolve this issue?

A. Turn on lacp suspend-individual.
B. Turn on lacp graceful-convergence.
C. Turn off lacp graceful-convergence.
D. Turn off lacp suspend-individual.

Answer: C

NEW QUESTION 2

switch# show interface fecl/5
fel/5 is down (NPV upstream port not available)
Hardware is Fibre Channel, SFP is short wave laser w/o OFC (SN)
Port WWN is 20:47:00:0d:ac:ad4:3b:83
Admin port mode is F, turnk mode is off
snmp link state traps are enabled
Port wvsan is 100
Receive data field Size is 2112

Refer to the exhibit. Interface fc1/5 is offline. Which action should be taken to troubleshoot the issue?

A. Activate the correct zoneset for VSAN 100.

B. Update the FLOGI database to contain the FLOGI entries for interface fc1/5 in VSAN 100.
C. Update the FCNs database to contain names for VSAN 100.

D. Configure the upstream ports and the server ports to be in VSAN 100.

Answer: D

NEW QUESTION 3
An attempt to use a global vNIC redundancy template pair results in a service profile that fails to apply. Which action resolves the issues?

A. Create the peer names before creating the templates.

B. Assign the secondary template first, and then set the peer name.
C. Assign both templates simultaneously.

D. Assign the primary template first, and then set the peer name.

Answer: D

NEW QUESTION 4
An engineer attempts to register Cisco UCS Manager to Cisco UCS Central, but the registration fails. The engineer can ping Cisco UCS Central from UCS
Manager. Which two actions must the engineer attempt to resolve the problem? (Choose two.)

A. Synchronize the date and time to NTP for Cisco UCS Central and the Cisco UCS domains.
B. Apply the UCS Central license to UCS Central.

C. Place Cisco UCS Manager on the same subnet as Cisco UCS Central.

D. Allow port 443 between Cisco UCS Manager and Cisco UCS Central.

E. Allow port 9443 between Cisco UCS Manager and Cisco UCS Central.

Answer: AD

NEW QUESTION 5
A server fails to boot from the operating system after a RAID1 cluster migration. The RAID remains in an inactive state during and after a service profile
association. Which action resolves the issue?

A. Configure the SAN boot target in the service profile.

B. Configure the SAN boot target to any configuration mode.
C. Use a predefined local disk configuration policy.

D. Remove the local disk configuration policy.

Answer: C

NEW QUESTION 6

A fabric interconnect fails to start and the console displays the loader prompt. Which two actions resolve the issue? (Choose two.)
A. Load an uncorrupt bootloader image.

B. Load an uncorrupt kickstart image.

C. Reconnect L1/L2 cables between the Fis.

D. Reformat the fabric interconnect.

E. Load the correct version of the boot image.

Answer: BE
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NEW QUESTION 7

event manager applet config monitor
event cli match “conf t”
action 1.0 snmp-trap strdata “User has entered into configuration mode”

Refer to the exhibit. The EEM script fails to send an SNMP trap when a user attempts to enter configuration mode. Which configuration is missing from the script?

A. event statement

B. event-default action statement

C. policy-default action statement
D. IP address of the SNMP server

Answer: D

NEW QUESTION 8

A network administrator attempts to install an application in the Cisco NX-OS Guest shell and receives an error that there is not enough space on the disk. Which
command must the administrator run to increase the disk space available in the Guest shell?

A. guestshell growdisk rootfs [size-in-MB]

B. guestshell pvextend rootfs [size-in-MB]

C. guestshell resize rootfs [size-in-MB]

D. guestshell resize2fs rootfs [size-in-MB]

Answer: C

NEW QUESTION 9

switch# guestshell resize cpu 4

Note: System CPU share will be resized on Guest shell enable

Refer to the exhibit. After the configuration is performed, guestshell continues to use 2%CPU. Which action resolves the issue?

A. Resync the database
B. Recreate the guestshell
C. Reboot the guestshell
D. Reboot the switch

Answer: C

NEW QUESTION 10
A request to activate the port security database is rejected. Which action do you perform to investigate the cause of the issue?

A. Enable the auto-learning feature.

B. Use the force option to identify rejected devices.

C. Find conflicting entries between the active and configuration databases.
D. Verify that devices are fully attached to the active database.

Answer: B

NEW QUESTION 10

DRAG DROP

A firmware upgrade on a fabric interconnect fails. A bootflash contains a valid image. Drag and drop the recovery steps from the left onto the correct order on the
right.

Select and Place:

A. Mastered
B. Not Mastered

Answer: A

NEW QUESTION 15
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